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MT-05
December - Examination 2018
B.A./B.Sc. Pt. Il Examination
Differential Equations
Paper - MT-05

Time : 3 Hours ] [ Max. Marks :- 67

Note:

ﬁi@T :

Note:

ﬁi@T :

The question paper is divided into three sections A, B and C. Use of
non-programmable scientific calculator is allowed in this paper.
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Section - A 7x1=17
(Contain seven (07) Very Short Answer Type Questions)

Section ‘A’ contains Very short Answer Type Questions.
Examinees have to attempt all questions. Each question is of 01
mark and maximum word limit may be thirty words.
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1) (i) Find integrating factor (FHIHE TOTH ST DIoRI|):—
(xcy sinxy + cosxy)ydx +(xy sinxy — cosxy )xdy =0
(i) Solve (8T PHIRR1):~ cosy sinpx — cos pxsin y—p=0

(iii) Solve (g1 HIRR1):~ (D*—6D? +11D—6)y=0

(iv) Examine given equation for exactness
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(v) Find the part of complementary function of

TR el BT Th ATT S DI |

d> d
djz) (1- x)d—y—y e”

+4y—l

(vi) Define degree of partial differential equation.

3ATfITp 3TeTehel FHIHRUT hl BT Dl TRYTNT DI |
(vii) Solve (g1 $ISRA1):~ (D*D —4DD?)z=0

Section - B 4 X8=32
(contain Eight Short Answer Type Questions)
Note: Section ‘B’ contain 08 short Answer Type Questions. Examinees
will have to answer any four (4) question. Each question is of
08 marks. Examinees have to delimit each answer in maximum
200 words.
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Solve (&e1 HIT1):- d—y sin (x+y)+cos(x +y)
Solve (g1 HIfoRII): - (2ydx + 3xdy) + 2xy(3ydax + 4xdy ) = 0
Solve completely (‘Iﬂfﬁ g DI | )i— ap?—2yp+4x=0

Solve (8 BT ): - (x+ 1)2%+(x+ 1)23; (2x¢+3)(2x +4)

Solve (&e1 HIT1):- (1+4+x )2232)+3xg +y=0

Solve(SﬂEﬁﬁlﬁl) d—y (1 1>Zy+4xezxy 4(x® + )

Solve (8T BINRIN):~ y%(x—y)p +x2(y—x)qzz(x2+y2)

Solve (81 HIvR1):= (D2 —D2%2—-3D+3D)z=xy+e**%

Section - C 2X14=28

(Contain 4 Long Answer Type Questions)
Section ‘C’ contains Four Long Answer Type Questions.
Examinees will have to answer any two (02) questions. Each

question is of 14 marks. Examinees have to answer in maximum
500 words.
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10) (i) Solve (gl Eﬁﬁﬁ’jl):— (x3y3—xy)dx=dy
(ii) Solve (gl Eﬁﬁ?}fl):— y=3x+logp
11) (i) Solve (81 HIRRI):— (D*—2D +5)y =eXsinx

(i) Solve (81 HIRI):- dx:ax—i—by;%:a’x-i-b’y

dt
2 .
12) (i) Solve (8T HIRAN):- %4—%%_”,:%

(i1)) Solve by method variation of parameter

(uraret fomrer fafer & gt HiforI1):-
x2& dy 2 x

13) (i) Solve by Charpit method
(emdf (aRfUe) fafer & gt HIfvwR):-
2 p?+22¢%=1

(i1) Find complete integral of

(quf AR ST BRI 1):—

z2<p2+q2>=x2+y2
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